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Занятие №24

 Тема: «Космос. Глаголы to be, to have, to do».
1. Прочитайте текст и ответьте на вопросы:
There are a lot of planets and stars there.

- How many planets of the solar system?

-What are these?

-Which is the closest from the Sun?

-Which is the farthest from the Sun?

-What do you know about Pluto?

-What are the differences between stars and planets?

Mercury, Venus, Earth, Mars, Jupiter, Saturn, Uranus and Neptune make up the eight planets of the solar system. Mercury is closest to the Sun and Neptune is furthest away. Pluto was once known as the furthest planet but it has recently been classified as a dwarf planet. Stars are massive balls of ionized gas. A planet is an object lager enough to have become round through the force of its own gravity.

2. Дополните словами предложения
1. ___________form tails when they pass through the inner solar system.

2. _____________orbit the Sun in the same directions as the Earth.

3. Mars has two _________________ Deimos and Phobos.

4. Pluto is an icy ____________ planet that can’t clear debris from its orbit.

5. ______________ are easy-to-remember patterns of stars, and help us locate the various stars in the night sky.

6. ___________________ occurs when a high mass star reaches the end of its life and explodes.

Dwarf - карликовая
Asteroids-астероиды
Constellations- созвездие
Moon - луна
Supernova –сверхновая звезда
Comets - кометы
Прочитайте, переведите текст

Russia’s space programme
Russia’s space programme continues itself new targets. At present it has three main aims. The first is to send three manned missions to the moon by 2015. The second objective is to build a permanent base on the Moon to tap its energy resources. And, last but not least, its third goal is to dispatch a Russian crew to Mars, also as the “Red Planet”, between 2010 and 2030.

Of cause, space travel does not come cheap. While the Russian government has given $2 billion to the programme, private investment is also needed. Some money has been raised through offering tourist trips into space. Russia was the first country to offer this type of travel, and to date four people have travelled as tourists into space, each paying $20 million for the privilege.

With its many first, Russia has been a pioneer in space exploration and earned its place among the stars. Apart from technology and investment, the space programme needs cosmonauts. Do you aspire to new heights?

Составьте план рассказа текста

 Запишите в тетрадь следующие правила: 

Вспомогательные глаголы абсолютно несамостоятельные в использовании, но одни из самых важных для передачи смысла — правильного смысла, который вы хотите донести. Их совсем немного, всего 5 штук:

to be

to do

to have

shall

will

У каждого есть свои формы, но их тоже легко запомнить. Тем более, что используются они повсеместно и нужны чуть ли не в каждой фразе. Глаголы «shall» и «will» используются для обозначения будущего времени, поэтому их мы пока затрагивать не будем. А вот be/have/do обсудим.

To be

В настоящем времени может иметь 3 формы — am, is и are:

· I am existing — я существую;

· He/She/It is existing — он/она/оно существует;

· You/We/They are existing — ты или вы/мы/они существуют.

Используются в Present Continuous.

В прошедшем времени to be превращается в was для ед.числа и were для множ.числа:

· I/He/She/It was existing;

· You/We/They were existing.

Используются в Past Continuous.

To do

В настоящем времени to do может использоваться в двух формах:

· собственно do, если мы используем его с I, You, We, They;

· does, если говорим про He, She, It.

То есть если мы спрашиваем о себе или множ.числе, то звучит это так:

Do I exist?

Do you/we/they exist?

А если говорим про единственное число третьего лица, то используем does:

Does he/she/it exist?

В прошедшем времени to do принимает форму did:

Did I know it?

Did she go to shop last week?

Did we do this?

To have

To have в настоящем времени также имеет две формы по тому же принципу, что и to do выше:

· have для I, You, We, They;

· has для третьего лица в ед.ч., то есть для He, She, It.

В прошедшем времени превращается в had.

Пройдите по ссылке и выполните упражнение на закрепление этой темы.  

Для выполнения этих упражнения вам потребуется правило видовременных форм активного залога (презентация в предыдущем уроке)

https://ru.stegmax.com/tests/auxiliary-verbs-be-have-do-elementary/
Скрины с ответами приложите к своему ответу в вк. Срок выполнения до 26.12.

